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Jet response (pT/pTgen) in 395 <= pt < 468, 0.0 <= |eta| < 0.5
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Jet response (pT/pTgen) in 395 <= pt < 468, 0.5 <= |eta| < 1.3
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Jet response (pT/pTgen) in 395 <= pt < 468, 1.3 <= |eta| < 2.1
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Jet response (pT/pTgen) in 395 <= pt < 468, 2.1 <= |eta| < 2.5
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Jet response (pT/pTgen) in 395 <= pt < 468, 2.5 <= |eta| < 3.0

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
0

0.5

1

R
at

io 0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

Jet response (pT/pTgen) in 395 <= pt < 468, 3.0 <= |eta| < 5.0

reso_dist_395_468_eta50
Entries  0
Mean        0
Std Dev         0

Entries  0
Mean        0
Std Dev         0

reso_dist_395_468_eta50
Entries  0
Mean        0
Std Dev         0

Entries  0
Mean        0
Std Dev         0

Jet response (pT/pTgen) in 395 <= pt < 468, 3.0 <= |eta| < 5.0
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